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TABLE 3-4.  Abortions in Relation to Length of Gestation by Method,
Complications, and Age of Patient, Oregon Occurrence, 2007

Method, Complications and
Age of Patient Total

Weeks Gestation

< 9 9-12 13-16 17-20 21-22 23+ Unk.

Total ....................................... 11,883 7,256 2,976 792 443 123 104 189
Suction Curette ....................... 6,182 3,479 2,212 317 29 7 2 136
Medical (Non-surgical) ............ 1,975 1,904 25 5 2 6 2 31
Dilation & Evacuation ............. 3,671 1,854 734 466 405 102 96 14
Intra-uterine Instillation ........... 2 2 – – – – – –
Vaginal Prostaglandin ............. 18 4 – – 5 6 3 –
Sharp Curettage ..................... 3 – 1 – 1 – – 1
Other ....................................... 14 6 1 2 – 2 1 2
Unknown ................................. 18 7 3 2 1 – – 5

Complications

None ....................................... 10,095 5,845 2,747 722 407 113 96 165
Hemorrhage ............................ 8 5 1 1 – – – 1
Infection .................................. 36 25 8 1 1 1 – –
Cervical Laceration ................. 1 1 – – – – – –
Retained Products .................. 75 53 19 – 3 – – –
Failure of First Method ............ 19 19 – – – – – –
Other ....................................... 43 31 10 1 1 – – –
Multiple Complications ............ 18 14 3 – – 1 – –

Age Groups

< 15 ........................................ 49 28 8 5 3 2 3 –
15-19 ...................................... 2,006 1,065 603 157 88 38 28 27
20-24 ...................................... 3,720 2,212 976 260 149 36 25 62
25-29 ...................................... 2,889 1,793 696 200 105 22 28 45
30-34 ...................................... 1,630 1,048 382 91 63 17 11 18
35-39 ...................................... 1,072 749 212 53 27 6 5 20
40-44 ...................................... 357 260 59 20 8 2 4 4
45+ ......................................... 46 36 9 1 – – – –
N.S. ......................................... 114 65 31 5 – – – 13

– Quantity is zero.
-	 Quantity is zero.


